
Jerry Greer's Engineering - 1940 Chief - Seat Post

Ref Part # Qty Description Price

Page 1               Created On: 03/28/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1940 Chief - Seat Post

Ref Part # Qty Description Price

1 848002 1 SEAT POST ASSEMBLY, hard chromed top post $225.00

2 796010 1 PLUNGER TUBE, riveted ear, hard Chrome Plated shaft $150.00

3 809009 1 SEAT POST SPRING, upper, heavy duty $11.00

4 827003 1 SEAT POST STOP SPRING, rubber stop included $16.75

5 764005 1 SEAT POST SPRING SEAT, upper $8.00

6 20B313 1 SPRING, .84'' X .84'' long, compression $6.50

7 661008 1 SEAT POST PLUG, $14.00

8 724002 1 SEAT POST ROD, $15.00

9 809005 3 SEAT POST SPRING, 4.300'' long; Bare Finish $11.00

10 JG-4084 3 SEAT POST SPRING, 4.620'' long, heavy duty, custom application; Bare Finish $30.00

11 319024 2 COLLAR, lower seat post spring $10.00

12 764004 1 SEAT POST SPRING SEAT, lower $12.00

13 37506 1 WASHER, 7/16'', .083'' thick, seat post retaining; Cad Plated $0.75

14 605012 2 NUT, 3/8''-24(Jam) $1.00

15 207115 1 BOLT, 5/16''-24 X 1.250''(Hex), Cad Plated $3.75

16 922007 1 WASHER, 5/16'' Split Lock; Cad Plated $0.75

17 41950 1 SEAT POST BUSHING, $26.00

Page 2               Created On: 03/28/2024 - Copyright 2024 Jerry Greer's Engineering


